P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.	END-OSEK	Gir.	01411		COST	AMOUNT			
				The state of the s					
	0.11150			External Hard Drive; Offer: Seagate HDD Ext. Backup Plus Slim 2TB Black	4 (00 00	55,668.00	IMAX TECHNOLOGIES, INC	shopping	delivered
021-07-108	CAWED	12	units	STHN2000400	4,639.00	35,666.00	IMAX IECHNOLOGIES, INC	SHODDING	delivered
				128 GB Memory Card Offer: Scandisk SD Card SDSDXV5-128G-GNCIN	1 00/00	554400			8-Sep-21
		4	pcs	128GB	1,386.00	5,544.00			0-3ep-21
				Computer Mouse (wired usb-type); Offer: A4 Tech Mouse OP-720 USB	101.00	0/000			
		2	pcs	BLKon	181.00	362.00			
		3	pcs	Smart Keyboard Folio for Ipas Pro 11 inches	9,880.00	29,640.00			
		3	pcs	Screen Protector for Ipad Pro 11 inches Tempered Glass	400.00	1,200.00			
		3	pcs	USB C Digital Multiport AV Adapter	1,892.00	5,676.00			
021-07-109	CMD	500	pcs	Policy Brief 1: Kalayaan islands Group	7.00	3,500.00	INNOVATION PRINTSHOPPE, INC	SVP	delivered
		500	pcs	Policy Brief 2: PH Rise Marine Resource Reserve	7.00	3,500.00			5-Aug-21
				Policy Brief 3: Management of Ecologically Connected Marine Protected					
		500	pcs	Areas	7.00	3,500.00			
		500	pcs	Policy Brief 4: Saving the Remaining Philippine Coral Reefs	7.00	3,500.00			
		500	pcs	Policy Brief 5: Inclusion of Deep Reefs in MPA Design & Monitoring	7.00	3,500.00			
		500	pcs	Policy Brief 6: Integrated Marine Management	7.00	3,500.00			
		500	pcs	Policy Brief 7: EfficientMangrove Monitoring	7.00	3,500.00			
		500	pcs	Policy Brief 8: Ridge-to-Reef Protection	7.00	3,500.00			
		500	pcs	Policy Brief 9: Maintaining Coastal Integrity	7.00	3,500.00			
			p = -	Policy Brief 10: Scaling up Livelihood Initiatives into Biodiversity-Friendly		11.1			
		500	pcs	Enterprises	7.00	3,500.00			
		500	pcs	Policy Brief 11: Manpower Development of DENR Coastal and Marine	7.00	3,500.00			
				Specifications:					
				- 1 page each briefer xcept for 1 & 3 back to back					
				- A4 size; C2S paper (180-200 gsm); Full color; Matte Lamination		_			
100									
021-07-110	BAC SEC	5	pcs	USB Headset with Noise Cancelling Mic; Warranty 1 year	2,685.00	13,425.00	PAPERNIX ENTERPRISE	shopping	delivered
02107710		5	pcs	WEB Camera; Built-in mic with moise reduction	1,800.00	9,000.00	V 1		30-Jul-21
			p			5 , 7 1 5			
				For official use of BAC Secretariat					
021-07-111	HRDU	1000	pcs	Leave Card Form	10.50	10,500.00	DC & C PRINTING SERVICES	SVP	delivered
									31-Aug-21
				For official use of HRDU		-			
						-			
	CAWED	6	pcs	Token (Philippine Native Products)	2,500.00	15,000.00	JJKE TARADING	shopping	delivered
021-07-112			10000						16-Jul-21
021-07-112		1		To be given as tokens to the Reosurce Speakers on the Learning Event on					
021-07-112		1			1				1
021-07-112				the Cave Values via Zoom					
	NAPWC	30	CUM		1,650,00	33,000,00	RVCA TRADING and	shopping	delivered
021-07-112	NAPWC	20	cu.m	the Cave Values via Zoom Crushed Gravel G1	1,650.00		RVCA TRADING and General Merchandise	shopping	delivered 14-Jul-21

P.O./J.O NO.	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
2021-07-114	WRD WMF	32	Units	BRANDED TABLET WITH BUILT-IN S PEN Samsung Galaxy Tab A w/S Pen	13,990.00	447,680.00	any network systems, inc	shopping	delivered 29-Jul-21
2021-07-115	NAPWC	600	pes	Nipa Tratch (Pawid) For the roofing hut at the back of Director's cattage	25.00	15,000.00	PAPERNIX ENTERPRISE	shopping	delivered 19-Jul-21
2021-07-116	BMB	37	pcs	Refilling of fire Extinguisher (20 pounds)	1,200.00	44,400,00	METDRIE TRADING	shopping	delivered
		4	pcs	Refilling of fire Extinguisher (10 pounds)	600.00	2,400.00			22-Jul-21
		1	рс	Refilling of fire Extinguisher (50 pounds)	3,000.00	3,000.00			
2021-07-117	CAWED	1500	pcs	Supply and Printing of BMB Newsletter (3rd issue) Size: Folded A4; spread A3; Stock: C2S 100lbs (selfcover) cover with with full scratch off coating; Print: Full color (all pages) No. of Pages: 52 (Inciding cover); Binding: Saddle Proofing includes 2 sets of Digital proof Delivery 20 working days	117.86	76,790.00	DC & C PRINTING SERVICES	SVP	DELIVERED 23-Aug-21
2021-07-118	CAWED	4	pcs	WEBCAM	7,780.00	31,120.00	JJKE TRADING	shopping	delivered
	0,11125	1	pcs	Full HD 1080 video calling: Dimensions: 73 x 126 45mm, Camera w/ clip Software Microsoft Office 365 Family For the conduct of webinar trainings, workshops, consultation mellings and related activities	4,995.00	4,995.00			19-Jul-21
2021-07-119	BPKMD	1	lot	Internet Access Management Software (Firewall) 2 yrs subscription (Sangfor)	245,294.00	245,294.00	INFOSTORAGE CORPORATION	shopping	delivered 31-Aug-21
2021-07-120	HRDU	200	pcs	Magazine Box with Cover Specs: Color-Black; Size: 14cm W x 28cm H x 40 cm L For official use of HRDU	251.78	50,356.00	ATR MULTI TRADE CONCEPT INC.	shopping	delivered 12-Aug-21
2021-07-122	PMU & BACSEC	3	set	Branded Computer Desktop (Upgrading) Brand Offer: ACER CPU: 10 Gen Intel Core 17-10700F Processor (8-Core, 16M Cache2.9GHz to 4.8GHz); 7200 rpm 3.5" SATA Hard Drive; OS Windows 10 home (64 bit) Single Language English; Computer LED Monitor 27 Inch; USB Computer Keyboard and mause	68,330.00	204,990.00	LEXMAR Gen. Merchandise and Contractor	shopping	

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.					COST	AMOUNT			
2021-07-123	BMB	375	boxes	Sodium Ascorbate with Zinc	206.23	77,336.25	TRIKA MEDICAL AND MEDICINE	shopping	delivered
				100 film coated tablets 100 pcs/box			SUPPLY CORPORATION		3-Aug-21
			-	Replacement and Alignment of BMB doors and sliding windows of the		and in this in a second grant or a second as a second			-
2021-07-124	ВМВ			following:			JUAN CARLOS CONSTRUCTION SERVICES	SVP	delivered
-				For Building No. 3					9-Aug-21
į.		2	sets	Heavy duty overhead door closer (replacement only)	10,310.00	20,620.00			
		1	рс	WF-Lockset (replacement only)	1,047.00	1,047.00			
- 1		4	panels	ED-door (alignment only)	1,047.00	4,188.00			
			1	Sliding Window: powder coated white trame with 6mm thick clear glass					
-		1	panels	19" x 22"	3,402.00	3,402.00			
-			1	For Building No. 4					
	- 1	1	рс	Pivot bearing (replacement only)	1,282.00	1,282.00			
		1	panel	ED- door (-alignment only)	1,047.00	1,047.00			
				For Building No. 6					
		6	panels	ED- door (-alignment only)	1,047.00	6,282.00			
1			1	For Building No. 7					
-				Sliding Window: powder coated white trame with 6mm thick clear glass					
1		1 .	panel	83" x 57"	6,222.00	6,222.00			
- 1			pario	Security Office					
- 1		1	set	Heavy duty overhead door closer (relacement only)	10,310.00	10,310.00			
-		,	301						
2021-07-125	BPKMD	29	units	Wearable/Portable Ionic air Purifier	3,000.00	87,000.00	ACHIM ENTERPRISES	shopping	delivered
10210/120	DI KIVID	-	O' III.	Branded (Preferably Cherry Ion or equivalent brand)					3-Aug-21
				Specification: Emits 50 million negative ions cms					
-				Rechargeable via micro USB, Shiel from germs, airborne viruses, dust					
1				and molds in the air; Nominal Voltage 5 volts; Nominal Power< 1 watts					
			1	Power: Polymer Lithium Battery 3ft radius; One year warranty					
2021-07-126	HRDU	500	pcs	Lanyard	70.00	35,000.00	JJKE TRADING	shopping	delivered
2021-07-120	TIKOO	500	1	30 inches 1/2 inch widtrh with metal lobster claw and buckle attachment	7 0.00	00,000,00			
				with print					4-Aug-21
2021-07-127	WRD	11	unit	Branded Cellphone; Brand: SAMSUNG A32	13,699.00	150,689.00	AVID SALES CORP	shopping	delivered
1021-0/412/	TIKU	1.1	Offili	Warranty: One (1) Year	10,077,00	,50,007.00	Trip or many or or in		26-Aug-21
	1			riginality, one (if fool					
2021-07-128	NAPWC	2	pack	Tissue Roll (12 rolls/pack)	325.00	650.00	JJKE TRADING	shopping	delivered
1021-07-120	PWC/SC/Youth	2	bottles	Alcohol with pump dispenser 1000ml	357.75	715.50	and on the fact of	41.2FE.1.9	4-Aug-21
	1 41C/3C/100In	4	Donles	Storage box chair PVC leather & E1NDF 25mm sponge; size 76cm x 30cm	007.70	, 13.50			
		3	nor	x 38cm	1,014.00	3,042.00			
1		1	pcs	Foldable reclining sofa bed swivel arm chair maharlika	4,678.70	4,678.70		2	
			I DC	Lordone recirring sold bed swiver dutt cuali Haudulika	4,070,70	4,070.70			
		1			1	-	1		
				Airnod with charoling case: Airnod dimensions: 0.65 x 0.70 x 1.59 inches (-			
2021-07-129	CAWED	1	pc	Airpod with charging case; Airpod dimensions; 0.65 x 0.70 x 1.59inches (9,490.00	9,490.00	ACHIM ENTERPRISES	shopping	delivered

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.					COST	AMOUNT			
		2	pcs	Portable WiFi Devices with speed to 48 hours battery life loaded with athome promos and on-th-go promos	1,990.00	3,980.00			
021-07-130	WRD	2	pcs	Branded Drone Hard Case with Foam	8,650.00	17,300.00	J_KE TRADING	shopping	delivered
				Material: Lightweight Strong HPX Resin					10-Aug
2021-07-131	BPKMD	50	copies	Printing of 2020 BmB Annual Report	920	46,000.00	DC & C Printing Services	SVP	delivered
021-07-131	BLKWD	30	Cobies	Size1:52 PM 8 1/2" x 11"	720	40,000.00	De a ciriling services		10-Aug-21
				No. of Pages 48 including cover; Color Full color all pages and cover					10-109-21
				Paper: Cover C2\$ 180lbs; Inside C2\$ 100 lbs; Binding: Saddle Stich Other: with spot lamination					
2001 07 100	CAWED	2	-	A3 Paper (Substance 80 gsm 500 sheet/ream) Hard Copy Brand	3,030.75	6,061.50	JJKE TRADING	shopping	delivered
2021-07-132	CAMED	4	bxs	As raper (substance ou girn sou sneet/ream) hard copy bland	3,030.73	0,001.30	Jake IRADING	stiopping	delivered
		1 4	pcs	Clip board- Material: PU Leather metal clips 23 x 17cm/9.06 x 6.69 inches	307.80	1,231.20			4-Aug-21
		1	pes		307.00	1,201,20			.,
021-07-133	CMD	17	pcs	Men's Thermal Rash Guard 900LS Black	875.00	14,875.00	PAPERNIX ENTERPRISE	shoping	delivered
		13	pcs	Womens Rash Guard 100LS BI;ack	625.00	8,125.00			26-Aug-21
		17	pcs	Men's Long Swimming Boxers Black with Blue	937.50	15,937.50			
		13	pcs	Womens' Cropped Swim Leggings Black	812.50	10,562.50			
						-			
021-07-134	BMB	1	unit	Microwave Oven Bramd: American Home	5,500.00	5,500.00	JJKE TRADING	shopping	delivered
		1	рс	Electric Kettle; Bramd: Nova	1,500.00	1,500.00			4-Aug-21
				To be used in the Director's cottage					
							A.		
021-07-135	HRDU	6	units	Steel Cabinet	8,066.00	48,396.00	JJKE TRADING	shopping	delivered
				36 x 72 x 18 xlotted, angle bar, all steel with adjustable bolt with plate,					
1				powder coat finish light gray color, steel corner plare		-			25-Aug-21
201.00.17	CUD			Discount in a coop of the control of	780.00	2,000,00	PS TEVES Construction	shanning	delivered
2021-08-136	CMD	5	pcs	Diameter Tape; 2000mm 79" PVC Soft Retyractable Measuring Tape	780.00	3,900.00		shopping	24-Sep-21
		5	pcs	100-meter Transect Line 1/2 inch open reell filber glass tape	1,480.00	7,400.00 2,400.00	Supplies Trading		24-36p-21
Y I		5	pcs	0.5 x 0.5m stainless steel quadreant	480.00	100000000000000000000000000000000000000			
		10	pair	Rain Boots Black	380.00	3,800.00			
		2	pcs	Haga Altimeter	4,980.00	9,960.00			
		10	pcs	Caliper (plastic)	230.00	2,300.00			
		15	pcs	Non-sharpening pencil (magic pencil)	35.00	525.00			
		10	pcs	State Board (A4)	380.00	3,800.00			
		20	bottles	Alcohol (40ml spray)	35.00	700,00			
- 1		5	pcs	Antibacterial Liquid Handsoap (22mi, in pump bottle)	180.00	900,00			

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.					COST	AMOUNT			
		1	set	Medical Pack (30 pcs each Paracetamol and Antihistamine tablets, 20 pcs each Antacid and Anti-Diarrhe fablets)	1,480.00	1,480.00			
		3 , 2.		To be used in the conduct of the Pilot Testing of the Revised Draft Biodiversity Assessment and Monitaring for Mangrove and Seagrass Habitat in Masinloc Oyon Bay PLS			,		
2021-08-137	CAWED	3	pcs	Studio Light; Power 60W; color temperature: \$500k±200k	9,980.00	29,940.00	PS TEVES Construction	shopping	DELIVERED
				Power Variation 1%-100%; cooling sysytem-Fan; display LCD			Supplies Trading	,	15-Sep-21
		3	pcs	Light stand; Max. Heght 3000mm; Min Hright 1000mm; Weight 2.4kg	2,480.00	7,440.00			
		1	pcs	Modifier; size 120 diameter; depth 43cm	9,480.00	9,480.00		-	
				To be used I the conduct of Online Dalaw "Turo		-		4,,	
				USD C to 2.5 has also have local advantage USD Type C Lambon connect					
	0.11455			USB C to 3.5,, headphone jack adapter, USB Type C Laptop connect wired headphone ans speaker: 1 x 1 USB Type C connector	010.00	0.400.00	JJKE TRADING	ala a marina	delivered
021-08-138	CAWED	3	pcs		810.00 3,361.50	2,430.00 10,084.50	Jake IRADING	shopping	24-Aug-21
		6	pcs	USB C to SD Card Reader for PC/Laptop	945.00	5,670.00			24-A0g-21
		0	pcs	Extension cord (3 gang universal outlets/3 USB port)	945.00	5,670.00			
				to be used in the conduct of zoom meetings/webinars					
				TO DO GREEN IN THE GOLDGEST OF BOTH THIS CHINGS A VESTICAL		_			
021-08-139	GŞU	72	pcs	Polo Shirt (Honeyconb: Assorted color with embroidered logo)	300.00	21,600.00	PAPERNIX ENTERPRISE	shopping	delivered
				18 pcs White (1-2XL, 8-XL, 5-L, 4-M)					28-Sep-21
				18 pcs Light Gray (1-2XL, 8-XL, 5-L, 4-M)					
				18 pcs Dark Gray Gray (1-2XL, 8-XL, 5-L, 4-M)					
				18 pcs Navy Blue (1-2XL, 8-XL, 5-L, 4-M)					
				The Parties of the Control of the San					
021-08-140				CANCELLED					
	2112	0000			20.00	201 000 00	C (PRINTING NIC	SVP	
021-08-141	CMD	9000	pcs	Printing of Marine Biodiversity Activity Book for Kids	39.00	351,000.00	G.A. PRINTING INC	SVP	
				Specifications:		7.0			
				Size A4 (8.27 x 11.69 inches); Binding style: stapled		-			
				Cover: Weight 10pt cover stock; full color	1				
				Coating: glass lamination; borderless					
1				Interior Page: Page count 44; wright 80 to 105 GSM; coating: uncoated					
	- Marian Caracteria Ca			UPS Model: APC y Schneider Electric UPS 650va/360watts AVR Technology				9	-
021-08-142	HRDU	9	pcs	2 yrs manufacturing warranty	3,500.00	31,500.00	Ameash Specialized Goods Trading	shopping	delivered
		9	pcs	Universal Adaptor	50.00	450.00			23-Sep-21
		3	pcs	Extension cord (5-gang)	970.00	2,910.00			
				For official use of HRDU		2 2 2			
	9								
021-08-143	BUDGET	2	pcs	Calculator 12 digits 2 way power (solar)	690.00	1,380.00	ACHIM ENTERPRISES	shopping	delivered

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.					COST	AMOUNT			
		2	pcs	Portable External Hard Drive	2,990.00	5,980.00			23-Sep-21
		2	pcs	Wearable Portable Air Purifier	3,500.00	7,000.00			
2021-08-144	CAWED	2	pcs	LCD Screen; ACER Aspire SS-371 Series 13.3" Wide screen	6,149.00	12,298.00	JJKE TRADING	shopping	
		2	pcs	LCD LED Cable; ACER Aspire SS-371 Screen Display Flex Ribbon	2,500.00	5,000.00			
2021-08-145	BPKMD	1	unit	Laptop Charger; Output 19V-2.37A; AC Adapter power: ASUS X556U	4,900.00	4,900.00	J.IKE TRADING	shopping	delivered
				Compatible Brand: ASUS X556U; Genuine Charger					1-Sep-21
		2	pcs	Laptop Battery: Battery type: Li-io; Battery Voltage: 7.6V	3,600.00	7,200.00			
				Capacity: 38WiH/\$00mAH; Compatible Brand; ASUS X556U					
						-			
.021-08-146	PMU & BAC SEC	3	sets	Branded Desktop CPU and Monitor (Upgrading)	68,000.00	204,000.00	BAYANPC Technologies, Inc	shopping	
				Brand and Model: ACER Aspire TC-1650 OS-Windows 10 Home SL (64-bit); Processor: Inite® Core™17-11700					
				Audio: Integrated high definition, 5.1 channel surround sound		-			
				Accessories: USB-Wired Keyboard & Mouse					
				Monitor: K242HYL Hbi 23.8"; MS Office: Office & Student		-			
			- 1	Warranty : One year					
						-			
2021-08-147	CAWED	2	units	Desktop Computer (Upgrading)	122,000.00	244,000.00	ANY NETWORK SYSTEMS, INC	shopping	
				Brand ASUS ROG Strix G35DX-PHO18T Desktop; form factor: ATX					
				OS-Windows 10 Home; Processor; AMD Ryzen-7-3700x Processor 3.6GHz Storage 1TB SATA 7200RPM 3.5 HDD + 512GB M,2 NVMe™PCle®3.0SSD					
				Memory 16GB; USB Keyboard/Mouse					
		2	units	Monitor ASUS VA24EHE 23.8 inch, Full HD, IPS, 75Hz Monitor	12,000.00	24,000.00			
		-	Ornis	Motified Production Land Hotel Control of Control	12,000.00				
	×			For official use of CAWED					
021-08-148	GSU	5	bxs	LED light bulb, day light, E-27, 7-watts, 48pcs/box, Orbik	3,180.00	15,900.00	BOSTON BUILDERS CENTER	shopping	
		5	bxs	LED light bulb, day light, E-27, 10-watts, 48pcs/box, Orbik	3,480.00	17,400.00			
		2	bxs	LED light bulb, day light, E-27, 15-watts, 48pcs/box, Orbik	5,150.00	10,300,00			
		8	bxs	LED glass tube T-8, 7-watt, 25 pcs/box, GE	2,640.00	21,120.00			
		2	bxs	LED glass tube T-8, 15-watt, 25 pcs/box, OMNI	5,200.00	10,400.00			
		3	rolls	THHN/THWN Wire No. 2.0mm, 150/roll, Philfliex	3,100.00	9,300,00			
		3	rolls	THHN/THWIN Wire No. 3.5mm, 150/roll, Philfliex	4,520.00	13,560.00			
		2	rolls	THHN/THWN Wire No. 5.5mm, 150/roll, Philfliex	6,920.00	13,840.00			
		10	pcs	1-way switch, wide series, Panasonic	65.00	650,00			
		10	pcs	Universal Outlet Flush Type, Panasonic	65.00	650.00			
		5	pcs	1-gang plate, wide series, Panasonic	50.00	250.00			
		20	pcs	2-gang plate, wide series, Panasonic	50.00	1,000.00			
		10	pcs	Outlet 3 - flex, , surface, Omni	65.00	650.00			
-		10	pcs	Male plug, Omni	25.00	250.00			
-		5	pcs	Multi Purpose Torch	535.00	2,675.00			

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.	CITE DOLLE		0.111		COST	AMOUNT			
		5	pcs	Casette butane gas & outdoor, 250 g	105.00	525.00			
		5	cans	Penetrating oil 277ml/266g./9.3FL oz, WD-40	210.00	1,050.00			
1		5	sets	Circuit Breaker, plug-in type 30 amp., 240 volt, with accessory box, GE	725.00	3,625.00			
		100	pcs	PVC tox & screw No. 5	2.00	200.00			
		3	kg	Hardware cloth (basahan round)	85.00	255.00			
		5	rolls	Cloth duct tape, 2" x 3m	265.00	1,325.00			
		10	pcs	Sand paper #100, waterproof	11.50	115.00			
		10	pcs	Sand paper #250, waterproof	11,50	115.00			
		5	pcs	Male Adapter (round to flat), 10 amp., 240 volts, OMNI	45.00	225.00			
		6	cans	Spray paint (Black) Bosny	120.00	720.00			
		2	cans	Metal Polish, Pleage	210.00	420.00			
		5	cans	Vulcaseal (1 liter/can)	565.00	2,825.00			
					2 11				
021-08-149	NPD	7500	pcs	Printing of IRR of ENIPAS ACT Specs: with enclosed CDR containing electronic copy of PA Cover: Foldcote 12: Inside: Mattel 100 Size: Spread - 8.25" x 13"; Folded - 6.5" x 8.25" Color: Cover - Full color: Inside 1 color; 86 pages inclusive of cover Finish: Smythe Perfect Others: File supplied, color separation, mattel amination Spot UV; Inside back cover with CDR enclosed in a pocket CDR file burning included	66.00	495,000.00	EC-TEC COMMERCIAL	SVP	
	WRD	1	LOT	Publication of DENR -DA- A.O No. 2020-02	10,304.00	10.304.00	CONCEPT & INFORMATION GROUP INC.	SVP	delivered
021-08-150	WKD	•	tol	"Adopting the National Invasive Species Strategy and Action Plan Philippines 2020-2030 as the National Framework for the Management of Invasive Alien Species in the country" sice: 4 cols x 23 cm	10,004.00	10,004.00	CORCEL TRANSPORTATION OF THE		16-Sep-21
21-08-151	NAPWC	5	pcs	Tubular Sfeet, 2" x 4" x 1.5mm x 6M	1,490.00	7,450.00	BETINA'S CONSUMER	shopping	
	PA RIA	8	pcs	Tubular Steel, 2" x 2" x 1.5mm x 6M	980.00	7,840.00	GOODS TRADING		
		10	pcs	Roofing Sheet, rib type, ga. 24 x 1.0M x 8'	1,490.00	14,900.00			
		7	pcs	Fascia Board, 11/2" x 8" x 8' hardiflex	490.00	3,430.00			
		1	1	Washed Sand, 1.8 cu. M/fruck load	2,900.00	2,900.00			
		5	bag	Portland Cement, 40kg/bag	245.00	1,225.00			
		3	can	Vulcaseal, 1 liter/can	590.00	1,770.00			
		3	gallon	Epoxy primer with catalyst	940.00	2,820.00			
		2	gallon	Epoxy Reducer	480.00	960.00			
					480.00	960.00			
		2	pcs	Pre-Painted Flashing, ga. 24 x 8" x 8" x 8" x 8"					
	25	2	pcs	Pre-Painted Ridge Roll, ga. 24 x 8" x 8" x 8"	480.00	960.00			
		5	kg	G.I. Wire #6	118.00	590.00			

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.					COST	AMOUNT		-	
		2	box	Metal Cutting Disc 1mm x 4"Ø, 10 pcs/box	748.00	1,496.00			
		2	box	Metal Cutting Disc 2mm x 4"Ø, 10 pcs/box	748.00	1,496.00			
				For roof extension of Gate 2 Ticket Booth					
021-08-152	BPKMD	55	pcs	Water Resistant Belt Bag (Sandugo Belt Nag)	2,032.00	111,760.00	LEX-MAR GENENERAL MERCHANDISE	shopping	
				Main compartment with one pocket inside		-			
ĺ				Secondary compartments with accessories poacket		-			
				Kangaroo pocket for extra storage		-			
-				Ballistic Nylon PU goated fabric					
-				Concealable waist/hip belt Mesh side pockets		- 1		1	
				Padded back panel/optional shoulder strap			* 5. 2.		
1		55	nos	Convertible Pants (Lagalag viajero)	1,500.00	82,500.00			
		33	pcs	Quick drying and tough nylon body; Built in mobile phone pocket	1,500.00	02,000.00		1	
						- 1			
- 1				convertible to sharts with YKK knee zippers					
						-			
021-08-153	CMD	200	pcs	Pocket WiFi (Min. Is up to 256 kbps with 80 religibility	1,140.00	228,000.00	ST CHRIST INTERNATIONAL TRADING	shopping	
				Up to 42 mbps LTE 700Hz ready for better indoor coverage in selected					
1				areas; 256 MB; Can support up to 10 users					
		200	pcs	Prepaid Card (500 pesos load)	780.00	156,000.00			
		3	pcs	Prepaid WiFl Modem	13,526.00	40,578.00			
				LTE-Advanced; 3G amd 4G only					
				2.4 ro 5GHz Dual Band; 4 LAN Ports					
021-08-154	CMD	3	pages	Publication of BDFE DAO 2021-013	54,432.00	163,296.00	DAILY TRIBUNE	SVP	
021-00-134	CIVID	٥	puges	Specifications:	34,402.00	100,270.00	DAILTINDONE	011	
				Size: 3 (full pages); Color: Black and White		-			
021-08-154A	WRD	49	units	Wearable/Portable Ionic Air Purifier	2,520.00	123,480.00	MARABE ENTERPRISES	shopping	
21 00 10 11	711.0		011110	Offered Brarand: AVICHE M5 air Purifier					
		3	units	Personal Air Filtration System	4,480.00	13,440.00			
1			Othis	Offered Brand: Eady Flow - Fresh Air Anywhere	4,400.00	10,770.00			
				Official Brand, Edgy Flow - Hesti All Allywileig		_			
021-09-155	BMB			Supply, Repair and Installation of Vehicle parts of Nissan NV350		-	LG MADRIGAL MOTOR WORKS	SVP	
				with PLATE NUMBER FOG 960					
1		1	lot	Tinsmitting: Repair, straighten and align front humper, front chassis	lot price	21,000.00			
				frame, front flooring, front face panel reinforcement, replace front					
				face, back door, rear end and right hand quarter panels, left hand					
				and right hand pillar post					
		1	lot	Paintng: Repaianting of all damage area, front bumper, front chassis	lot price	50,000.00			
				frame, front flooring, replace face panel, front pace panel					
				reinforcement, rear end panel, replace right hand quarter panel and					
				front right hand pillar post, repalce back door panel					

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.					COST	AMOUNT		-	and the second s
		1	lot	Mechanical and Aircon Works: Remove and reinstall	lot price	11,000.00			
		1	рс	Oil cooler assembly	66,280.00	66,280.00			
		1	рс	Windshield glass	40,000.00	40,000.00			
		1	рс	Windshield glass	51,900.00	51,900.00			
		1	рс	Lamp comb rear and right hand	7,300.00	7,300.00			
- 1		1	рс	Armature assy front	15,800.00	15,800.00			
- 1		1	рс	Bracket bumper right hand	3,500.00	3,500.00			
		1	рс	Back door glass	23,000.00	23,000.00			
		2	pcs	Wiper arm assy	lot price	6,900.00			
		1	рс	Radiator grille	17,800.00	17,800.00			
		1	рс	Radiator Assembly	30,000.00	30,000.00			
		1	рс	Bracket corner pand	13,300.00	13,300.00			
Í		1	рс	Right headlight	16,400.00	16,400.00			
		1	рс	Left headlight	16,400.00	16,400.00			
		1	рс	Front bumper	17,000.00	17,000.00			
		1	рс	Cowl cover assembly	5,800.00	5,800.00			
		4	pcs	Sikaflex seglant	lot price	3,840.00			
		1	рс	Rear bumper	18,200.00	18,200.00			
		1	pc	Front center panel	27,200.00	27,200.00			
		1	pc	Bumper bracket (retainers)	3,900.00	3,900.00			
		2	pcs	wiper blade	lot price	2,900.00			
		1	рс	Front heater unit	60,200.00	60,200,00			
		1	pc	Radiator emblem	2,100.00	2,100.00			
		1	pc	Cross member assembly	14,900.00	14,900.00			
1		1	pc	Evaporator assembly	12,500,00	12,500,00			
		1	set	Evaporator housing	18,500.00	18,500.00			
		1	pc	Resistor block	8,800.00	8,800.00			
		1	lot	A/C tubings and fittings	6,000.00	6,000.00	- 4 1 1		
		1	pc	Expansion valve front	4,500.00	4,500.00			
1				Drier	2,800.00	2,800.00			
		'	pc	Front blower aircon	5,800.00	5,800.00			
		'	рс	HOTTI BIOWET GILCON	3,000.00	0,000.00			
21-09-156	ADMIN	1	roll	THHN/THWN Wire No. 5.5mm Phelpdodge 150 mtrs/roll	8,090.00	8,090.00	ACHIM ENTERPRISES	shopping	delivered
2.07-100	ADMIN		1011	Circuit Breaker Bolt-in Type, 30 amp, 240 volts 2 pole with accessory box		-,			
		1	set	weatherproof type	672.00	672.00			23-Sep-21
			301		0.2.50		,		
21-09-157	CAWED	1	рс	SeamlessBackground Paper (Backdrop) #46 Tech Green, 9 ft x 36 ft	5,000.00	5,000.00	PS TEVES CONSTRUCTION	shopping	delivered
		1 1	рс	Shotgun Microphane	14,000.00	14,000.00	SUPPLIES TRADING		24-Sep-21
		1 1	рс	Kit Bag 106cm x 31 cm x 30 cm	7,000.00	7,000.00	# 1		
						-			
021-09-158	ВМВ	25	gals	Germicidal Misting Agent	1,640.00	41,000.00	ACHIM ENTERPRISES	shopping	delivered

P.O./J.O	END-USER	QTY.	UNIT	DESCRIPTION	UNIT	TOTAL	SUPPLIER	MODE	STATUS
NO.					COST	AMOUNT			00.5 01
				Typical Appearance: Light Yellow Color		-			23-Sep-21
				Liquid Odor: Leman/Fresh Bamboo		-	V		
				Ph 12.4			1		
				For disinfection of all BMB Buildings against Cavid 19					
2021-09-159	ВМВ	2000	bxs	KF94 Disposable Face Mask	170.00	340,000.00	ACHIM ENTERPRISES	shopping	
				4 ply 50 pcs/box; Color: Black and Gray		-			
				1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1					
2001 00 1/0	0140	050		County and Colodina of Tickina title Colodinal Land	150.00	37,500.00	CEBOOM ENTERPRISES	SVP	
2021-09-160	CMD	250	pcs	Supply and Printing of T-Shirt with Printed Logo	130.00	37,300.00	CEDODIN CHIEKLKISCO	341	
				Specifications:		-			
				Color: White; Style; Round Neck; Material: Cotton		-			
						-			
			N 10			-			
2021-09-161	BMB	1	unit	Bed Frame Wood 48"	14,900.00	14,900.00	JJKE TRADING	shopping	
		1	unit	Double Bed Frame Metal 36"	14,900.00	14,900.00			
1		1	рс	Foam 48"	6,300.00	6,300.00			
		2	pcs	Foam 36"	4,800,00	9,600.00			
1		1	250.00	Bed Sheet 54"	1,250.00	1,250.00			
		2	pc	Bed Sheet 42"	980.00	1,960.00			I
		2	pcs	Bed Sheet 42	900.00	1,760.00	-		
				For official use of BMB-Upland Cottage					
2021-09-162	NAPWC	2	10.00	Customs Signage 3m Reflectorized Sticker with G18 Plain Sheet	17,500.00	35,000.00	K Signs and Designs	shopping	
2021-09-162	NAPWC	2	pcs		17,300.00	33,000.00	K signs and Designs	arobbing	
				with 2 x 2 angular Bar 8 ft x 8 ft Supply only					
				For olificial use of NAPWNC- Gate I and Gate 2		-			
				SUB- TOTAL		5,857,489.65			
					ali yana aran jiran aran aran aran aran aran aran aran	a the same of the		-	***************************************
T				Van Rental to terry WRD personnel for the conduct of monitoring and	T	T			
Contract No.				inspection of wildlife facilities in Region 3 and vivinities on July 7-8 and					delivered
2021-020	WRD	1 1	unit	July 22-23, 2021	7000 * 4 days	28,000.00	SMILE TRAILS TRAVEL AND TOURS	NP-SVP	July 23, 2021
	1 4 1 2 Pag	-	- VIIII						
				Van Rental to terry participants for the conduct of Pinagrealan Cave					
				Assessment regarding the alleged destruction due to mining activities on					delivered
ontract No.				July 6-7, 2021 from BMB QC. To Norzagaray, Bulacan and vicinities and		00 000 ==	114141011100001000010000	D 21/2	July 7, 2021
2021-021	CAWED	2	unit	vice versa	7000* 2 days	28,000.00	JMV TRANSPORT SERVICES	NP-SVP	July 7, 2021
				Van Rental to terry participants from BMB, QC to San Jose , Bocave,					
Contract No.				Guiguinto, Obando, Paombong and Sta. Cruz Bulacan and vicinities and					delivered
2021-022	CAWED	1	unit	vice versa on July 12-13, 2021	7500* 2 days	15,000.00	JMV TRANSPORT SERVICES	NP-SVP	July 13, 2021
									l last it
ontract No.				Contract of Service of an Animator/Video Editor for the development					delivered
2021-023	CAWED	1 , 1	pax	and conduct of Dalaw Turo Web Series with a duration of one (1) month	25,000.00	25,000,00	HANNAH MARIE BIANCA SAMSON	NP-SVP	Sep 1, 2021

DEPARTMENT OF ENVIRONMENT AND NATURAL RESOURCES BIODIVERSITY MANAGEMENT BUREAU PROCUREMENT UPDATES For the period July 1, 2021 to September 30, 2021

				GRAND TOTAL FOR THE 3RD QUARTER		6,089,489.65			
				SUB- TOTAL		232,000.00	75		
Contract No. 2021-027	вмв	50	рах	Catering services during the Turn Over Ceremony of USEC Edilberto DC Leonardo to the new Director Tungko M. Saikol on September 24, 2021	300.00	15,000.00	ANKO'S PALUTO FOOD SERVICES	NP- SVP	delivered \$ep 24, 2021
Contract No. 2021-026	BMB			Three (3) Months supply and Delivery of Purified Drinking Water with Free Use of Hot and Cold Water Dispenser from October 1, 2021 to December 31, 2021		36,000.00	CATHY'S CHOICE WATER REFILLING STATION	shopping	
Contract No. 2021-025	CAWED	1	рах	Contract of Service of a Sign Language Interpreter for the Development and Conduct of the Dalaw Turo Web Series for a period of five (5) months	45,000.00	45,000.00	MA, FE ANDREA R. FAUSTINO	NP-SVP	
Contract No. 2021-024	CAWED	1	unit	Van Rental to terry participants from BMB, QC to Calauag, Lopez, Quezon and vicinities and vice versa to attend Workshop on the Piloting of the Rapid Assessment of Wetland Ecosystem Services (RAWES) on July 20-24, 2021	40,000.00	40,000.00	JMV TRANSPORT SERVICES	NP-SVP	delivered July 24, 2021
P.O./J.O NO.	END-USER	QTY.	UNIT	DESCRIPTION	COST	TOTAL	SUPPLIER	MODE	STATUS

Prepared by:

Administrative Officer II Procurement Management Unit

Office of the Director

DATU TUNGKO M. SAIKOL

Director